GENERAL SCIENCE — 100 IMP QUESTION / PYQ 2018-2023

1. Physical properties depends on the/ WUIUTWW%SSN Eh_{?l%’?
a) Size of atom/ GIHATOT &7 TP
b) Size of proton/mﬁﬂﬂm
c) Size of neutron/ o-qt\gTo-l T TP

d) No. of electrons/ SoIFelal T TEAT

Physical properties depends on the Size of atom.
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2. Soda water-obtained by passing carbon dioxide in water is: /m?ﬁﬁﬁdméd §I3311¢H|$5
TSI TRYTC HISTATE BIele -

a) An oxidizing agent/ Uah 3{TeFTehI0T Shileh

b) Basicin nature/qifﬁfﬁ&‘l'lﬂﬂ

c) Acidicin nature/E@%ﬁﬂ?—oﬁT{

d) Reducing agent/ 39T hch

Carbonic acid is a chemical compound with the chemical formula H2CO3.

sl feteh TS AT A H2CO3 ATelTTeh TA Toteh A faTeh T

3. Dialysis’ is related to? /SRITTEE frg T @afadg?
a) Liver/ geohd
b) Kidney /daeh
¢) Eyes/3W
d) Brain/ #ATEdSH

Dialysis is a treatment that filters and purifies the blood using a machine. Dialysis is used to
treat people with kidney problems.
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SRATATEE Ueh YehR 1 3TUR § TaaH2MNT T ST &k Tl i Theed 3R e foham
ST § | STATATAE T 3UANT fohs=iT s HEIT aTel o9l o SolTol & Tl foram SITar &

4. What percentage of Human Blood is Plasma?

HTAG T&Fd T fohdaTT 9faerd ColleAT 87

a) 35%

b) 45%

c) 50%

d) 55%
Blood plasma is the liquid component of whole blood, and makes up approximately 55% of
the total blood volume. In whole blood, red blood cells, leukocytes, and platelets are
suspended within the plasma.

T CATGHT Y T I el TCeh &, 3R Foel IoFcd BT ATAT T SIS 55% SATcAT & | T &,

Tl Tl AT, cTHIHTSCH 3 TolcelcH TelloAT o #icR flelfad Eelle |

5. Which of the following is milk of magnesia?/ afaf@a & 9 #i9 Bew 36 JvfRmr
g?

a) Calcium Sulphate/ HTeR—IH Hethe

b) Magnesium Hydroxide/?Js-\'él'ﬁ'ﬁl?ﬂ:rE‘I'1’1';'klial'_\’:IT':;T?:r

c) Magnesium Sulphate/ HIAI I Helthe

d) Magnesium Oxide/ ﬁ??hfa‘nmaﬁwns-s'

Milk of Magnesia is used as a laxative to relieve occasional constipation (irregularity) and as
an antacid to relieve indigestion, sour stomach, and heartburn.

Ao 31T HeiTraT s wefr-FHeft sheat (TATHTAT) T T ¥ 3R 3197, @edr s
AR 3FAIAIGI Y & ToIT Ueh TSI o & H YA FohAT ST & |

6. Japanese encephalitis is a disease caused by which?/ ST SHH TS CH SIFART ST HRUT
g?

a) Virus/disdH

b) Protozoa/ QI3

c) Bacteria/GﬂTleU;r

d) Fungi/sdeh

Japanese encephalitis (JE) is an infection of the brain caused by the Japanese encephalitis
virus. Japanese encephalitis is spread by mosquitoes.

ST SAHATS [ (S1S) ST SHhelTS [T AR o HRUT glel dTell Udh HTcTSeh I
HhHUT & | ST SAheTsied Aoart garT herdr § |

7. Which among the following is not an Enzyme?/ ﬁmﬁr@aﬁﬁaﬁawmaﬁﬁv
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a) Lipases/FI'IE'QGr
b) Amylase/t’ﬂ'l??ﬁﬁ
) Gastrin/ IET
d) Trypsin/ fefoast

Gastrin is a peptide hormone that stimulates secretion of gastric acid (HCI) by the parietal
cells of the stomach.

NMEceT T Ieerss gTAl & S 9 T ariedent sl I3 ganT 3Ifegen tfis (Taiive) &
g1 &l 3T AT g |

8. Which of the following is equivalent to 1 a.m.u?/ TAFATITET & & Pl 1a.m.ush sTR
gidrg?

a) 1/6th of the mass of the helium atom/@WWj*Wﬂ 1/6 ar s1reT

b) 1/8th of the mass of the hydrogen atom/aﬁmw%maﬂ 1/8 ar 1T
c) 1/12th of the mass of the oxygen atom/ WW$WW 1/12 ar ATaT
d) 1/12th of the mass of the carbon atom/ WW?W@ 1/12 ar ATaT

1 atomic mass unit (amu) corresponds to 1.660539040 x 10-24 gram.
1 RATY] GeIHATA SIS (T) 1.660539040 x 10 2*IUTH o SIS glcl ¢ |

9. Tritium is an isotope of which of the following element?/ iEiEZIEFI G IR R RE D]

dcd &l ATSECIT g2
a) Carbon/ &HIaeT
b) Hydrogen/ §TSglatel
¢) Helium/giferasd
d) Nitrogen/ ATSEISTl

Tritium is a radioactive isotopeof hydrogen. It has two neutrons where regular hydrogen
does not have any, which makes tritium unstable and therefore radioactive.

T grggistet ol Ueh YAt 3msateld &1 2we &) =gl gld & STl greaisle a Tahsh
FCIeTeTel 81T &, it fefea# i HTEUT FA1ar & 3R saferw ggfsarestgrar g |

10. 1 electron volt of energy is equal to/1 50\1¢§Td alec Fall WW% -
a) 3.6x10°)/ Sl
b) 1.6x10" )/ ST
c) 3.6x10%° )/ el

d) 1.6x1018 J/\_Tlt\ﬂ'
It is 1 volt multiplied by the electron charge (1.6x107%° C).
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1 3T dlee IoATSolerelel AT (1.6x107%° C) 1 dlec HI[UT e T JIC glelig |

11. Q.25. The image shows oxygenated and de-oxygenated blood in the human heart.

From upper body";ﬁa vl

N/ N

W e —2>Tolungs

Right atrium

From lower body

() oxygenated blood
O De-oxygenated blood

What is the direction of deoxygenated blood from right ventricle of the heart?
(a) towards the lungs.

(b) towards the left atrium of heart.

(c) towards the upper body.

(d) towards the lower body.

12. With the rise of temperature, the velocity of sound —
ATIHTA & SaeT geea el &bl adT -

a) Decreases/ T g SITdTg
b) Increases/ S&dlg
c) Remains the same / HHATEREAT &

d) Isindependent of the temperature/ AT9HTT & TdT 8IdTg

The sound velocity is directly proportional to the increase in temperature because as the
temperature increases the air molecules starts vibrating at higher amplitude.

ey T AT ATTATT H Fefer & WY ITUTideh g1l § Foh SHH-SIA ATIAT Sl g gaT o
30T 3T JTITH TR il it ol & |

13. In a transistor - / Ueh CITIEC # -
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a) Length of emitter is greater than that of collector/ 3cHolh T oisllé g & A¥h

gl e
b) Length of collector is greater than that of emitter/ W@FW@W@W

gl g

c) Both collector and emitter have the same length/ {-id,llsqwd-ﬁT 3cqolh a’l?ﬁﬁ?ﬁ'lé'
AT glde
d) None of the above/ 378 & I &1 8T

Transistor is a semiconductor device that can both conduct and insulate. A transistor can act
as a switch and an amplifier.

IToTEex Ueh Yatehsered f3arsd ¢ it foh wefen 3R FHairelen el &1 7 R & HehcT T |

giforeX FBaa 3R TrTellhRR & §9 & H1Y FT HHAT L |
USES OF TRANSISTORS

As amplifiers, they are being used in various oscillators, modulators, detectors and nearly
any circuit to perform a function. In a digital circuit, transistors are used as switches.

giforeex &I 39reT

TFIIRRT o ®T H, 3T 39T fhadl S & e & o fafdes e,
Alggeley, f3eare 3N oramemar forelr o withe & foram o @1 81 fSToieer Afdhe &
giforeeT &1 39Ater Rag & &9 & g Jrar 8

14. Lenz's law is a law of conservation of/ﬁaﬂmwmwwm%—
a) Charge only/ shael AT
b) Momentum only/ Shael HdT
c) Energy only/ shddl Fall
d) Energy and momentum/ 31T 3iR HA3T &I=AT

Lenz's law a law stating that the direction of an induced current is always such as to oppose
the change in the circuit or the magnetic field that produces it.

leoteh [T & TR FohdT AR e & ferem garem iy gIel .

It states that energy cannot be created or destroyed, but it can be converted into another
form.

According to Lenz's law, the direction of the current opposes the magnetic flux's change.
You need extra effort to overcome the opposing forces. An increase in magnetic flux results
in increasing induced current.

SHH gl AT & foh FaiT T o df TATIT ST b & 3T 7 &1 A5 FAT 1 Gahar &, AfhaT 30
GER &Y H Feoll ST Hehell § | Seol oh T IH o 38N, URT T fG2T Gaehre yarg & gl
T Farer &l & | FaRIel arehdl OX hie aret & fore 3maent 3rfaRerd gamg i s & |
eI yaTe 7 518 § 9T aRT 7 g B B
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Lenz's law was formulated in 1834 by the Russian physicist Heinrich Friedrich Emil Lenz
(1804-65)

15. The refractive index of water is:

a) 1.33
b) 1.50
c)2.24
d) 1.36
Material Refractive Material Refractive
medium index medium index
Air 1.0003 Canada 1.53
Balsam
Ice L3Il
Water 11,8553 Rock salt 1.54
Alcohol 1.36
Kerosene 1.44 Carbon 1.63
disulphide
Fused 1.46
quartz Dense 1.65
flint glass
Turpentine 1.47
oil Ruby o7/l
Benzene 1.50
Sapphire 77
Crown %52
glass Diamond 2.42

16.Which one of the following vitamin is necessary for blood clotting?

=T 7 & Pl a1 [aeIf&Aa Id & Yarh et o ol 3TaTe g2
a) Vitamin A/ faeif@aT A
b) Vitamin D/ faerf@aT D
¢) Vitamin K /T3eTT®eT K
d) Vitamin C /faeIf@= C

Vitamin K is an essential vitamin that is needed by the body for blood clotting, bone
building, and other important processes.

TaeTfaet K Teh 3maeaes [aerf@e & St e # T & Uereh, 33! AT 3R 317 Ageaqor
GTehaT3iT o ToIT TaTH gl |

17. Which of the following is the richest source of ascorbic acid?
frafofld 7 8 @i vEiiae vfis &1 a8 Tqu dd 52

a) Apple /8«

b) Carrot /3TTaIX

¢) Bean /4H

d) Guava / 3JHAEG

Vitamin C, also known as ascorbic acid is a vitamin found in various foods. It is used to
prevent and treat scurvy.
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faerf@s &Y, 8 weaifas tfis & §9 & 8 S Srar 7, afdest @rey gerif # 9ram sie
aTelT fAeTT A § | SHeT 3UITIT ThdT I Aehe] 3R SolToT et o folT AT SATAT & |

18.To which of the following types of organisms do mushroom belong?
AAEHA 8 g & Shal & GFafaa g?

a) Algae /aTer

b) Ferns /q"F\’ff

c) Fungi/edesh

d) Lichens/ ollSdhal

Fungi are eukaryotic organisms.

e ThRAeH Sa gid &

19.RNA differs DNA from having —
3RUAT 30AT H TohE ST H T IAT § -
a) Adenine /USITS
b) Guanine /313-]@?-[
c) Thymine /28R
d) Uracil /?{\QT@T’T

DNA is a double-stranded molecule while RNA is a single-stranded molecule. DNA is stable
under alkaline conditions while RNA is not stable.

STV Ueh SAo-EESS 30U & STeieh TRTAT Uehol- £33 3107 § | ST &R R f&uferat
H R Yar & e 3T R AgT 81

20.Which gas is dissolved in soft drinks?
Sfrerer 9 A whleT A1 3G el gl &7

a) Nitrogen /sTTSclotel

b) Carbon di oxide mé?r‘s'rgﬁraa?rs'g
c) Ethylene luBric

d) Acetylene / TfAfT

Dissolved carbon dioxide is carbonic acid, which adds a pleasantly acidic flavor and an
interesting mouth-feel.

Efolcl h1eel STSHTFHISS HIaifeieh URAS o &I H B, S Teh U 31Feig T1G 3R Teh
T FolaT SIS ST &

ab o

21.Which type of waves are used in SONAR?
AR H ford eh1R hT Gt sl 39T a1 ST 82

a) Infrasonic waves /S=ShT8Ifeleh cXaT
b) Ultrasonic waves /H@“I'Fﬂﬁ'a;m
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c¢) Radio waves /Xf3aT a%aT

d) Gamma rays/?ﬂﬂTW
SONAR - Sound Navigation and Ranging.
IR - A138 ATAINT T {7

22. Which of the following is deviated by an electric field?
fAFafafad & @ et a1 faegd &1 @Rt faeford fonar s ashdrg?
a) Alpha rays /3TcT fohoT
b) Gamma rays /3T fohToT
c) X-Rays /TFH - THIOT

d) Neutrons/ o-ZI‘\EAUIo_-I
Alpha particles, also called alpha ray or alpha radiation, consist of two protons and two
neutrons. They are generally produced in the process of alpha decay.

31eT 0T, I 31T TohuT AT 3¢ TafentoT off &gt SITaT 8, & el 3R ar =gl &
AR STaT &1 A 31T AR O 310w &7 T Ufshar & 3curfga gl £ |

23. Why is it easier to swim in sea water?
THG, o ATell H AT AT T gIeAr g?
a) Atmospheric pressure is highest at the sea /@aﬁa@ﬁﬁwmmm
gITg
b) Sea water contains salt /ﬂﬁﬁ?ﬁﬁmm%
c) Density of sea water is higher than the ordinary water /mgaé:qrrﬁmaaa
AT 91AT & 38 gldT &
d) Density of sea water is lower than the ordinary water/ﬂ?il;;\"*m?ﬁaﬂﬂ?-lc_d
AHT I A hHABIAT &

It's easier to swim (that is float) in sea water than fresh water because density of sea water
is more than fresh water.

cTTot ITetY 3T TofedT 3 TG & TIeiT 3 o1 JATHIA § (S <Al §) T o Togg: o ety T
elcd dret greil ¥ 31Tk glar & |

24. When the light is passed through a prism, the color which deviates least is —

TSl YehTRT Y Ueh TG A I[STRT ST &, oY Fad v Taafere glay arer yehrer gicm 8-
a) Red /dlTel
b) Violet /S3Tai
c) Green /gl
d) Blue /&fTeT

When white light falls on a glass prism, each color in it is refracted by a different angle, from
which red color is least deviated and violet most.
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SIS A YhIRT T o oA W FRAT 8, A 38 39TEUd Yedeh {37 Ueh 37el9T SHI0T GaR]
fafaa grarg, foae & dre To1 ga8 31 va dorel o1 qod A faafad glar g

25.Who is the father of Immunology?
SFIATCIISN o STeTeh il 7
a) Robert Koch /T&¢ ST
b) Louis Pasteur /gs‘w
c¢) Edward Jenner /USds o
d) Landsteiner/ CELZAGEY

Edward Anthony Jenner, is known as the Father of Immunology.

TSTS TN SeTX, Tl SFGaATalion & fAar & §9 F ST ST & |

26. Which one of the following is the natural polymer?
fAeAfafEd & @ st a1 Frepfde SREED g?

a) Nylon /dTdelleT

b) Cellulose /@'@(\Tvﬂ'&f

¢) Pvc /drddr

d) Teflon /cHolleT

Cellulose is the main substance found in plant cell walls and helps the plant to remain stiff
and strong. Humans cannot digest cellulose. Cellulose is used to make clothes and paper.

Hegeilol UIGy RIS T TG # I SiTey arer & gerd § 3R 9id & shok 3R
HAGC Sl T§ad H HES T & | HJT QoG elol Tl Tdie o1 Y Hehell & | efeilol T
3UANIT HU3 3R RIS T & T Far Srar gl

27. Brass is an alloy of—

dicTer fonarent fasr ar @ -
a) Copper and Zinc /dTeT 31X SI&dT
b) Copper and Tin /dreT 3R feaT
c) lron and Zinc /3R 3R &

d) Copper and Iron /dTsT 3R &g
Brass is an alloy of copper and zinc.

dicTeT oITelT 3T STET T fA e & |

28.What is the chemical formula of “Sal ammoniac”?
"ol AT T TAI e FT FAT§?

a) NH4C|

b) NazB4

c) NH4Br
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d) NazBr3
Sal ammoniac or Salammoniac, is a rare naturally occurring mineral composed of
ammonium chloride.

AT T ATAAITAATR, IHANTATH FARTSS @ TeT Ueh GoIsT Tehicleh ®9 & UTIT SiTed dTell
gfasT gl

29.The unit of which physical quantity is not Pascal?
oy $1iforen TRY hT 5ohTS UTehor o &2

a) Moment of inertia /GIEEHT’EI;U‘[

b) Pressure /Gdld

c) Stress /9fadel

d) Young's modulus / EI?I?;I'UTIEF»
Newton's first law of motion gives the definition of moment of Inertia.

=TT o ATl T TGl [T TH STScd JTEOT hT TRHATNT T &

30. Which law of thermodynamics states that energy can neither be created nor destroyed;
energy can only be transferred or changed from one form to another?

a) The zeroth law of thermodynamics /WQWW
b) The first law of thermodynamics /Emmﬁﬁmn—gaﬁaﬂ

c) The second law of thermodynamics /mﬁl?@ﬂﬁ'qﬂ
d) The third law of thermodynamics / S HTITIRIRIATERT [T IH

The first law of thermodynamics is based on the law of conservation of energy.

SSHARTAT T i IT [ATH T8 Far g & T o af I18 ST ool § AR Ty Ase Hr
AT §; Foll T hdel Teh & ¥ GEY T H FAAIRT AT IRATI T ST Fehell 52
SSHT AT T Il [T FaT & TI&TUT & fgs W 3menRa |

31. The poisonous gas accidentally released in Bhopal Gas Tragedy was —
AT 3 FTHST H 1Tt I TAehell STedrely 3k ot -

a) Methane /HIdeT

b) Nitrous Oxide /ATSCHTFITSS

c) Methyl Isocyanides /fRAUTSANTSAASATSSH

d) Phosgene /HIESTeT

The chemical formula of Methyl Isocyanides is C;H3NO.
RIS ITSHIATSATSSH T THRATAh HF CoHNO B
HaC,

N=C=0
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32.Which among the following is not a characteristic of oxidation reaction?
fArfaf@d A & et 3ifereienor TR i faedr A€ 82
a) Itinvolves addition of hydrogen /gﬂy@mﬁgrg@a?r@gm%
b) It involves addition of oxygen /38 31TRTHAT & 3ferdioTe SERIGT 3
c) Itinvolves loss of electrons /38 TTATSHAT A Folerciall T JehdTeT BIcl &
d) Itinvolves addition of electronegative element. /38 JTRTHAT 7 SelerciaIfed dea

GEEIcIE]
Oxidation reactions are those reactions in which there is loss of electron, gain of oxygen or
electronegative element, loss of hydrogen.

JTFHIRIOT ATRTHATT I 3TATHATT gt § Tt Selargisl ol gTfeT glcil &, TTeFdToteT AT
faegd FOTcHa deq &1 ATfed g1l §, TAgTSaTatet i glfet alei & |

33. The real image formed by a concave mirror is smaller than the object if the object

is/3TelcTel GUUT GaNT &elT areciaes Sfafass ag ¥ BT gid & Ife a6 8-
a) between center of curvature and focus/ TohdT ohg, 3R Bl & &

b) at a distance greater than radius of curvature/WﬁWﬁW@W
c) at a distance equal to radius of curvature/Wﬁ?&T*WE@:&W

d) at a distance equal to focal length/ ®Iehel oisllé o ST E@W

34.Cadmium pollution is associated with —
hSfAAA TIOT fohareh A1 BT EIT ¢ -
a) Minamata disease /fRAATARIST
b) Black foot disease /ﬁ?ﬂﬁ‘sﬂﬂlﬂ
c) ltai— Itai /TS - SIS
d) Tuberculosis / T&HAT

Itai Itai disease is caused due to cadmium poisoning. “Itai” is a Japanese term which means
severe pain.

FsfATH TAWTFddr & HRUT SIS 3TTS AT BIAT ¢ | "STTS" Teh STITeAT 2Ts¢, & foraept 37T &
I perey

35. If the current through a flood lamp is 5A, what charge passes in 10 seconds?/ gfe Fels

T @ URT 5A §, AT 10 Aehs & sl AT Tl ol 872
a) 0.5C

b) 2C

c)5C

d) 50C

Answer:
Given,
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Current, | =5A

Time taken, t = 10s

Charge moved, Q =7

I=Q/t

Q=Ixt

Q=50C

Therefore, the correct option is d) 50C

36.Plank’s constant has the dimensions of

PR AT s Yo
a) Linear momentum /AW AT
b) Angular momentum /aTOfRT HAIT
c) Force /dcT
d) Energy /Fall

The dimension of Planck's constant is the same as that of angular momentum. Sl unit of
Planck's constant is joule-seconds (j-s).

Colieh foicieh <l fAHTE IO HAaTeh HAT glciie | Telleh foicishenl S| SehTg S[el-Hehs (j-
5) gl

37.Hydraulic brakes work on which principle?
grsgifoiahsioh [h H AT THHIA G ?
a) Pascal’s principle /Waﬂf@—dﬁﬁa
b) Archimedes’ principle /mﬂm
c) Bernouilli’s principle /a#fa?rwﬁaﬁﬁﬁ

d) Newton’s principle / &gl sl i@a\ﬂia
Hydraulic brakes work on the principle of Pascal's law. According to this law whenever
pressure is applied on a fluid it travels uniformly in all the directions.

BTSSITeleh 5ieh UTEehel oh [AGHT I H1H &hd & | 38 Netice eTaR ofa 8T fohdl ga o1
SaTd STl ST & aY ag T fegemstt & gae ®u O faaRa ey Sar g

38. Mangroves are plants that have

e ~
a) Modified Roots /GeNTdTS
b) Modified Stems Jgnfeade
c) Respiratory Roots /RaHsTH el
d) Respiratory Leaves / Qa9 AT

A mangrove is a shrub or small tree that grows in coastal saline or brackish water. Mangrove
forests only grow at tropical and subtropical latitudes near the equator because they cannot
withstand freezing temperatures.
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Halla v SEER A7 BIeT U5 § ST 9 TR 9T+l 7 39TaT § | Hailg 97 Hao Feg @ &
g1 3SUTehfeat T 3R 3UTSuTeh e aefr 3787121t O 91T SITd § Fifeh I 33UTell ol Tgel oAl
I TAPd el

What is observed when a solution of potassium iodide is added to silver nitrate solution ?

Aoy sce & 8l & QI fATH TASISS & el &l fHeTe 9T 7 @7 ST 872

(a) No reaction takes place /ﬁémﬂﬁﬁﬁ%

(b) White precipitate of silver iodide is formed /ﬁwmwmmﬁqm%
(c) yellow precipitate of Agl is formed /Ushwmtﬂwmmaaw%‘

(d) Agl is soluble in water. /@Wmﬁﬁ%ﬂ?—r?ﬁﬂ%l

It is a double displacement reaction.
2Kl(ag.)+Pb(NOs)2(ag.)>2KNOs(aq.)+Pbl; (s)

When a solution of potassium iodide is added to a solution of lead nitrate taken in a test
tube, the precipitation of a yellowish solid is observed.

This yellowish solid is lead iodide. Potassium nitrate is formed along with lead iodide.
This is a double displacement reaction

Ig giafavuras sfRfFar gl
2KI(aq.)+Pb(NOs)2(aq.)>2KNOs(aq.)+Pbl; (s)
IS Teh WA & foIT T JI5 8¢ & it & G RITH TAS1SS &7 Gl [RATaT STar g,

ar del 397 o S T JTETIOT SWT SITdT & | Tg§ Ulel TIT T 31 oS HIISBS ¢ | oS ATAIS8S
& 1Y I TRAITH ATSEC 1T ¢ | g Giafaedmdet 3fAfharg

39.Who discovered electron?
Solargiel Sl @i fohdel hI?
a) E.Goldstein /SIMesEld
b) J.J. Thomson /SFAATHIST

c) Ernest Rutherford /aﬁwaqﬁ'é
d) J. Chadwick / Siisfas

Electron was discovered by J. J. Thomson in 1897 when he was studying the properties of
cathode ray.

SITREleT 3l TIeT o of UIHH o 1897 # I AT STl T HUTS ThUlieh T[0T T EATA X 7§
|

40. The function of hemoglobin in the body is

IRAGAITA [SeTehrenig
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a) Transport of Oxygen /Maawqﬁaga
b) Destruction of bacteria /ST T TIATA
c) Prevention of anemia /AT T AhATH
d) Utilization of iron / &g ST 39JT4T

Hemoglobin is contained in red blood cells, which efficiently carries oxygen from the lungs
to the tissues of the body.

SIATTANTSI ool Il hITARIAT H SUTTTT AT 8, i Bhohal I fTFETSTeT T QR & Fclhl
Fﬁgwmdl@rqguldl%l

41. Food gets cooked faster in a pressure cooker because/ TR PP H QAT STeq] 9ah oIl
g FITh-

a) Water starts boiling at a lower temperature due to high pressure/ 3Td Gdld % RO

Tt S dT9HTT U 3cle] AT &

b) Water starts boiling at a higher temperature due to high pressure/ 3Tdgdld o
HRUT 9TaAT 3178 ATIAT 9T 3elclel ofeTdl &

c) Water boils only at 100°C but the heatcontent is higher at high pressure/ qTeiT shd ol
100 33l Afcaad W 39crdT § afehed 3T gara W AT & AT HfF gl &

d) Convection currents are set inside the cooker/ W*WWWWE’TW

&

Boiling point of water increases with increase in pressure.Because of increase in boiling
point heat provided to cooker is utilized to increase its temperature.

STd H Jefer & ATY YTl b1 FIYUeATh & & | FAUeTTh fog H I & & FHROT Heh AT YeT
T 1S ITHT T 3YANT @A & ATIHT T T & [T fHaT FAaT &

42. An endoscope is used by a physician to view the internal parts of a body organ. It is

HIITE ol ST o ToIT Tl ST & | T8 fehaieeT o 3MeTRd gidie?
a) Refraction of light/ YehTRT T 3T9d el
b) Reflection of light/ JaRTRT ST GRTdcleT
c) Total internal reflection of light/ WQTW@WW

d) Dispersion of light/ JerTRT T FehroTeT
The principle of total internal reflection is used in the endoscope by using the optical fibers.

HifCeehel tBIFaT T IUANT ek USIEhIT H qUT 3TcaAReh Wrdcletes fAguid &l 3uter faar
ST |
43. When a ship floats on water/aﬁaﬁéWWWéﬁT%, ar
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a) It displaces no water/ a%ﬁém?ﬁa%‘rﬁ?mﬁ?rm%

b) The mass of water displaced is equal to themass of the ship/ maﬁmﬁwﬁa
oAl GSTHTT STETST & GeIHT & SR gldie

c) The mass of water displaced is lesser than themass of the ship/ wﬁsaymﬁxvrﬁ?r
STIRT G HT SIETST o GeIHT H HH BIAT g

d) The mass of water displaced is greater than the mass of the ship/ ma\am
AT TSToIeRT GeTHT STeTol & g ¥ TFh giaT g

A ship floats on water according to Archimedes principle.

TSRS [fetric & 3TaN Teh STgTsl Ulell T R g |

44. ELISA test associated with which disease?/mmmﬁmﬂﬁ?
a) Typhoid/ 37T TaX
b) AIDS/TUSH
¢) Malaria/ #FITRZT
d) Tuberculosis/ I&HAT

ELISA test is used to diagnose HIV, which causes AIDS./TToIET TRT&T0T ST 3UFT TT3TSaT I
gdTeT o [T fohaT SITAT &, STt USH hl ShRUT Sl g |

45. Which of the following is correctly matched?/ ﬁmﬁr@aﬁﬁaﬁaa@rgﬁﬁ?@?
a) Aluminium-Haematite/ Teg[ATITH-gHICISE
b) Lead-Galena/ CEEEIC I

c) Iron-Bauxite/ 3TIXA-SIFHTSC

d) Magnesium-Malachite/ HITAITATH-HATRISE

Galena is the natural mineral form of lead (ll) sulfide.lt is the most important ore of lead and
an important source of silver.

AT (11) HeBISS T FTehicieh Wit T & | TG HIAT T & Hgca ol 310Eh g 3R
AT &1 Teh HgcdquT Aid g |

46. What does the airbag, used for safety of car driver, contain?/ WW@I’%T&:IT%%U
39T fhT SATeT aTel TIRST & FIT gIAT 872

a) Sodium bicarbonate/ BT aSHElac

b) Sodium azide/ BIf3TH ToTSS

c) Sodium nitrite/ B3I A8CISC
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d) Sodium peroxide/ B3I FASS

Sodium azide is used in airbag, used for safetyof car driver. Under room temperature,

sodium azideis a stable compound./wmwmwmqnu dlelh Eﬁf{j,{?ﬂl
o ToIT TohaT STAT € | R o dT9HT IR, TSI U183 Ueh €2 A g

47. When a sound wave goes from one medium to another, the quantity that remains

unchanged is/aaaﬁé%aﬁrawwmmﬁq@mmﬁm?ﬁ%, RIEDIK CITCIGE]
e

a) Frequency/mcﬁ

b) Amplitude/ 3TATH

c) Velocity/ 3T

d) All of the above/ RT3

Sound is propagated in the form of longitudinal waves. When sound travels from one
medium to another, both its velocity and wavelength undergo changes/iaﬁﬁﬁﬂ'é(?ﬂ'

R & & 7 FEIRARRAT ST § | ST Lafel Teh ATCTH 8 GE ATEAH HofldlT &, Al 38w
9T AR T St Sg el ST & |

48. Which of the following is not correctly matched?/ g A Tl .
a) Voltmeter/ drecHIET — Potential difference/ [a3TaT=aX
b) Ammeter/ 3THIeY — Electric current/ﬁﬂ:ﬁﬁm
c) Potentiometer/ GIETRAATHIET — Electro Magnetic Force/ Soldrel Haaifcah BT
d) Galvanometer/ IredaATHIeT — Electric resistance/ ﬁqﬂﬁm

A galvanometer is an electromechanical instrument used for detecting and indicating an

electric current./feda1HIER Teh faegdlaehIa 3UeRI0T § ToTEehT 3TN faegd JaTe
T ofdTTet 3R Hohd ¢t o Tl fohar SITar g |

49. The author of On the Origin of Species is:/ '3iTeT & 3RS 3iTH TN @ Pig:
a) Charles Lyell/ ITed oITael
b) Charles Darwin/ ITed STfdeT
¢) Charles Dickens/ TTed f3aheg

d) Aristotle/ 3TTE
Charles Darwin wrote the 'On the Origin of Species'and was published on 24 November

1859./dTe¥ STdel SaRT T T&IeT qEcreh ‘3T g 3NRIST 317 Tefier 24 FAaeT 1859 T
SenTTRI foham aram|
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50. Which one of the following disease is Inheritable? /ﬁmﬁ@ﬁﬁﬁaﬁﬂﬁﬁw
AT B2

a) Leukaemia/F{I’ﬁ?ﬁ?’llT

b) Colour blindness/ 3T JUITerdr

c¢) Malaria/ FITAT

d) Hepatitis/ gaersfed

Some Inheritable diseases are Thalassemia, Sickle Cell Anemia, Angel man Syndrome,
Huntington disease, Hemophilia, Down Syndrome etc.

SIAIThoraT, 313 g 3 & |

51. Which acid is produced when milk gets sour? /@*@@@ﬁ“ﬁﬁmmm
BT &?

a) Acetic acid/ Tt Tfas

b) Tartaric acid/ [ARTAR GRS

¢) Lactic acid/ oifeFear tfas

d) Hydrochloric acid/ 8TS8IFaileh UTHS

Lactic acid is an organic acid. It has a molecular formula CH3CHCO,H. It is white in solid state

and it is extremely soluble in water./olfFceh TTHS U el TAS ¢ WWH}I’
CH3CHCO,H B I8 S 37TaET H Hihe, gl & 3T g Tl 7 dge Pelereliel g g |

52. For which one of the following, ‘Diodes’ are generally used for?/ SRS ATHAAd fhd
FUHITINT HAITSITAT 82

a) Rectification / feSeaRY

b) Amplification / Yt

c) Modulation /HUE\'CI‘\FTQFT

d) Filtration/ ATdesT

A diode is a two-terminal electronic component that conducts current primarily in one
direction; it has low resistance in one direction, and high resistance in the other./E'F’ZI}I's' ar-
AT dTell Teh UHT Selargifoleh 3UShOT BIdT ¢ ST HETT & § Ueh TRM & RT T T8
AT &; ST Tk e 3 TFoRTer shoerem gy fem 3 afaiy sTagiand |

53. In Dry cell cathode is made of - / eWﬁ%ﬁgWam@w%-
a) Zinc/ STEAT
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b) Carbon/ &TeleT
c) AIuminum/HF{l_,?:ﬁﬁ'q?T
d) Boron/w

A standard dry cell comprises a zinc anode, usually in the form of a cylindrical pot, with a
carbon cathode in the form of a central rod. The electrolyte is ammonium chloride in the

form of a paste next to the zinc anode./WW?ﬁ@ﬂﬁ UAISSTEdT ST ol ?IHT%, ST
THAR T Teh SRR Scied o & H gIdT &, TTTH hald US o T H Fleel HAS AT 8 |
SolFelalse e H Toleh TAIS oh §9Tel H Ueh UEC oh &Y H THITAITH FIlISS gldTg |

54. 1 Bar is equal to - /1 9 fhacharaR 81T &-
a) 10°pa
b) 102 pa
c) 10°pa
d) 10%*pa

1 Bar is equal to 10° Pascal. Bar is the metric unit of pressure while Pascal is the Sl unit of

pressure. /AR = 10° UTEhel, SR &1 hT HITSh YOIl F ATATCHS SIS ¢ | ST ThUTEReT
TH. 3773, SIS &

55.Green coating of copper is due to the formation of .......? /aia‘é:a:wﬁmﬁmﬁs
fAATOTE HROT I 82

a) Copper sulphide/ aﬁww

b) Copper carbonate/ HIIR HIEfAc

c) Copper Chloride/ U FARTSS

d) Copper nitrate/ TIR AT

Copper Carbonate (often called copper carbonate or cupric carbonate) is a blue-green
compound (chemical formula CuCO3).

I leieie (T IFER I Hldiclc AT FYTh HIsiolc HeT STl §) Teh ATell-gn Tifaeh
(YT foteh A CuCo3) &

56.The plum pudding model of an atom was propounded by......... ?/WTUIEFFW‘\GT
ASA........ GART FEATTA o arar am?

a) Lavoisier/ JlafaaR

b) Thomson/ ATHIST

¢) Einstein/ 3TTECIT

d) Boyel/aV'ITIFr
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The Plum Pudding Model is a model of atomic structure proposed by J.J. Thomson in the
late 19th century./IRHTY] T S J-ITSH‘-NJ-IIU‘J, TS T Ueh AlSH g foraar. ot

ATAHACANT 9 df HET & 37 H FEATTIATHAT ITT AT

57. If the amount of electric charge passing through a conductor in 10 minutes is 300C, the
current flowing is:

a) 30A

b) 0.3A

c) 0.5A

d) 5A

Answer:

Given,

Charge moved = 300C

Time taken = 10 mins

Current="7?

I=Q/t

Substituting, we get | = 0.5A
Therefore, the correct option is c) 0.5A

58.Which of the following is not a vector quantity?/ fo¥e=T & & it G ATA AaT &7
a) Acceleration / cdXuT
b) Electric current/ faag?mm
c) Force/del
d) Velocity/ adar

Electric current is the amount of charge that flows per second through cross-sections of
conductor. If has only magnitude and no direction. Hence it is a scalar quantity, not a vector

quantity? /fCITLIRT TTeTeh & HTTEY &1 A U AhUs FaTfged JTar T AT gl & |
SgH IRATUT 8T § Afhet feem eI & safarw Ig srfer ufr g

59. Which of the following glands secret growth hormone? | Ff@aFasa @I
e GTHTeT ohl AT el 2

a) Adrenal /3-]‘@?:!(%

b) Pituitary Gland/ tﬂ'qt\“f?ﬂ%

c) Pancreas / 33IIRA

d) Thyroid/ eSS

Pituitary gland is known as master gland. It controls the quantity of secretion of all other
glands presents. It secretes the growth hormone and stimulates the thyroids and
parathyroid glands.
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A AT AT AR Ny ot shgd &1 T qEN AT aht T 3otk AraoT R frd e sl
& | T JE-GTANT T T1 A & TAT ATIRTSS T RI2RTSS MY A7 TATT0T AR B

60.Christmas factor is involved in:/ TohaHT R ATTA BIAT &-
a) Blood Coagulation / I{&d - STHTT H
b) Excretion / 3c@olel H
c) Digestion/ UTdeT H
d) Respiration / QT H

Ex. Christmas factor or Factor IX is an important blood clotting factor. The recessive from of
this gene results in the disease hemophilia. /fhTHT HRE 3UAT HRE X IFJ-STHTG HT Th

HecdaYUT SR g | 39 SiieT I fArat SrAThIferr e A &1 ste g |

61.Which physical quantity is measured in "Siemens? / Tora Hife TR &1 #AM9T HHT H
forar STaT &7

a) Electric potential/ ﬁag?r%aqa

b) Electric conductance/ fé’q‘:ﬂ?—fw

c) Magnetic flux/ EI}I@'JEIH‘I’@'

d) Refractive index/m?clﬂ'i?

Electrical conductance it is the ability of electric charge (basically electrons) to pass through
a medium. Unit is seimens or mho./ﬁagammmeraﬁrﬁnﬁmmﬁw (H\?—TW

U Selargiall) shi &THAT & | SHeh AT gfolc WAl AT HEIS |

62. At what temperature is gypsum heated to form Plaster of Paris? TATEST 3T IR S

& fore fScgs g argad =T o3 3 fFar Srarg?
a) 90°C
b) 100°C
c) 110°C
d) 120°C

Gypsum on heating gives CaS04.1/2H,0,CaS04 and CaO.

Gypsum on heating at 120°C gives plaster of paris ( CaS04.1/2H;0).

Gypsum on heating at 200°C gives anhydrous calcium sulphate (CaSOa) which is also known
as dead burnt plaster.

On very strong heating, gypsum decomposes into CaO.

I ¥ 9T FSe@a &ar & Cas04.1/2H,0,CaS04 and CaO
fSTcHa &Y 120°C UT I8 et G ToATEeY 36 YR (CaS04.1/2H,0) ITed BIAT &
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200°C T T XA R FSTewrat foroter hieRra Tethe (Cas0s) el & o1 #Yct STelm g3
CATECT AT T ATAT B |

g clof oY IR forewa faafed gy smare
CaO.

63.An eudiometer measures........ ?/Elﬁzﬁ?ﬂ?{' ........ W?HTCI?-TWFIT%?
a) Atmospheric pressure/ Waﬁ
b) Time/ AT
c) Volume of gases/ 31T &T TIdT
d) Vapour pressure/ di™ e

A eudiometer is a laboratory device that measures the change in volume of a gas mixture
following a physical or chemical change./ﬂﬁmwm%ﬂww%ﬁ@ Hifas

I1 TR 9Rade & Toid AT & 3IdeT S AT H IRade AT |

64.Person who is colour-blind cannot distinguish between....? /Wﬁm@tn%ﬁw%d
......... I 3 A F7ET T aTaT 82

a) Black and yellow/ el 3T drer

b) Red and green/ &Tel 3R &Y

c) Yellow and white/ drer 3R Othe

d) Green and blue/ g1 3 e

Color blindness is an inherited condition that affects males more frequently than

females./ﬁWﬁﬂﬁ%W%ﬁﬂ%ﬂﬁﬁﬁ@WﬁwaﬁWQﬂﬁﬁ
el

65.Which of the following vitamins contain nitrogen? | FATef@a 7 & fha laarf@aT &
TSI Glell &7

a) Vitamin A/ @A T

b) Vitamin B/ faerf&a &

¢) Vitamin ¢/ [@erf@= @t

d) Vitamin D/ faeTfAsT &Y

Nitrogen is found in Vitamin B6./aTS¢IoTeT [ACITe sl 6 & ITAT ST & |

66.Rectifiers convert....... e AT T T Qﬁaﬁﬁaﬂﬁgl

a) High voltage to low voltage / 3T dlecol ol e dlecol H
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b) Low voltage to high voltage/ & dlecal I 3Td alecol H
c) ACtoDC/ACSIDCH
d) DCto AC/DCHIACH

A rectifier is an electrical device that converts alternating current (AC), which periodically
reverses direction, to direct current (DC), which flows in only one direction./A[FcHRIT Teh

VHIICI ITHIOT § ST TeATacll IR (AC)HT el T T2 3 FgeT arell v ey ¥
aRafdd #Larg|

67.The sugar in the sugar solution is........ ?/ ey & Grel H dledl.....n.. %?
a) Solvent / faereh
b) Dissolved substance / faorT gerel

c) Colloid /Elflﬂ'l??_s'
d) Suspension /ﬁFiElFr

The solute is the substance that is being dissolved by another substance. Solvent - The
solvent is the substance that dissolves the other substance.

faerT ag uere § Toafend 3 ety garT gteraidie | f[aemae - faemrae ag gerd g it
A IETe I EeldlT §|

68. Which one among the following is a covalent compound?/ Afaf@a & 9 sl ten
qgHdrsTe A g?

a) Calcium chloride / $hTeRIH FARSS

b) Magnesium fluoride / HIATTAIH FARTSS

c) Sodium chIoride/'&ﬂ%WWlB‘s’

d) Carbon tetrachloride/ W?@W@g

A covalent compound is a molecule formed by covalent bonds, in which the atoms share
one or more pairs of valence electrons.Covalent bonds form when two nonmetallic atoms

have the same or similar electronegativity values. /mzﬁﬁa H‘é(—i«’«l\lddn Tq"?ﬁq\dlu
T3] 8, fSee aTaATo] Uens A1 3R TSl geterersl & SIS AT i g |
FEHAISToh S A TaAdll & STe &F 31T IRATULHT H sRTaT IT ATHITHHATA

faeg RS gcie |

69. Pellagra and Scurvy are caused by which pair of vitamin deficiency
respectively .

Yol 3R Tohdf A foret [aefa=g Hr et T giag?
a) Vitamin C and Vitamin D /f3erf&-c 3ikfaerf@a-p
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b) Vitamin B3 and Vitamin C /fe1f@- B33ikfaeraa- ¢
¢) Vitamin C and Vitamin A /faerf@a-c 3ikfaer@aa
d) Vitamin A and Vitamin B12 /faerf@aA 3ikfaerf@=- 812

Pellagra is a disease caused by low levels of niacin, also known as vitamin B-3.Scurvy is a
disease resulting from a lack of vitamin C (ascorbic acid).

UolTIT Ueh YR T UT & S [anfaa- foa erfaa o -3 o sgramar & e & sRoT
BT & |ThdT Ueh START & Sif faerfasT T (TEapifaeh Uis) T al & RUTEIAT 6|

70. The defect of vision in which the image of nearby objects is formed behind the retina,

is/12. T Y fore# 9@ T ae g3t @1 gfafdes Wear & O ao0aqr 8,8
a) Myopia/ AT
b) short-sightedness/ e Tfee ay
¢) hypermetropia/ &regfse

d) presbyopia/ EIIIQSQiEE

71 Which one among the following fuels is used in gas welding?
frfaf@a 7 & ol ar sue 3t afegar & 3uaeT fhar Srarg?
a) LPG /Ucdrail
b) Ethylene luBric
¢) Methane /&7
d) Acetylene /TfafceleT

In gas welding, acetylene is used as a fuel gas which produces hot flame when it is mixed
with oxygen.

g afeger A, viAfeelsr 1 3uer S 3 & &9 & o SITar & S 3iTarsteT & arer
AT 819 W 319 Sarer der g |

72. Which one among the following metals is mainly used in mobile phone batteries?

fFfafed & & g urg AT Wist S Sl & FEaaar3udIeT fohar ST 8?2
a) Aluminum/ﬂﬂmﬁﬂﬁ
b) Iron /olTgT
c) Copper /dT&T
d) Lithium / N faTe

A lithium-ion battery or Li-ion battery is a type of rechargeable battery.In the batteries
lithium ions move from the negative electrode to the positive electrode during discharge
and back when charging.

frfe-3maer St 7 -39 dedY Ueh YR 1 Ramsiaer sedi g1 saseRar & forfaas
3T F3Earet & gRITIfed Saeels A Uifaifed Soieels &hr 3R 3T a1t FTd THY
gitaifcagaldgis 8 aAdfcagalaes Hr IR AT AT & |
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73. Who among the following proposed that atoms are indivisible?
frafafed & & fhaer ] srfqermsaar Retred searfad fear
a) Dalton /STecCdd
b) Berzelius JERNERE
c) Rutherford /Wqﬁ'é

d) Avogadro /UgIaIaSr

Democritus first gave the concept that all objects are made of indivisible particles in 400 BC.
But it was Dalton, who actually constructed a theory in 1803 and decided that ‘All matter is
made of atoms. Atoms are indivisible and indestructible.’

SANShed o W UgeT 400 $HT d # Ig IaeTROT & foh Tl a&IU 1A= H0l @ el
g | fehet STe#sTees w1803 H Teh [AGHI T YfauTesTihar Toraeh3rarRas gerd
ATV H [ATHRT § | TRAT] 3ifastTsg 3R rfaamir g1’

74. Sodium metal should be stored in?

N urg PR R e AR
a) Alcohol /3TehIglel
b) Kerosene oil /fACERI
c) Water /91T

d) Hydrochloric acid / BTS8IFall R UTHS

Sodium is a very reactive metal. It is kept in kerosene to prevent it from coming in contact
with oxygen and moisture.

%ﬂ%muma@ﬁﬁ%m&ha%%lsﬁﬁa@aaﬁmﬁ%ﬁﬁmﬁmé
A Faa A @ ararg|

75.Chromium oxide in paints makes the color of paint?
Ye H HITAIA 3A1SS YT dhlhisT TT 13T TSI hidl §7?
a) Green /gl
b) White /&Ghe
c) Red /dlTel
d) Blue /&fTeT

Chromium (Ill) oxide is an inorganic compound with the formula Cr ;0 3. It is one of the
principal oxides of chromium and is used as a pigment.

SHITATH (Ill) HTFATSS Teh 37ehTalfoieh AMfaTeh § TorEenT BIAET Cr.058 | TE HITATH o GHE
3TFATSS & § Ueh § 3R ST 39T 90T & &9 & o Sirar &

77.The use of thermostat is:

yAfEee HI IUARTEIATE:
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a) To measure temperature /dTIHTTHIATIAR T

b) Toincrease temperature /dTIHTIS G [T

c) To keep constant temperature /ATTHTAR TEUEATI Gl h T T

d) To convert temperature into electricity /maaﬁﬁagmﬁaaﬂﬁﬁsﬁm

A thermostat is a component which senses the temperature of a system so that the system's
temperature is maintained near a desired set point.

YATEST Ueh Teah ¢ Sif fohdlY FEEeH & ATTHATST ol AgHH T ¢ dTfeh [AECH ahl ATIHT
Teh diTSd feig o 3T ST 8 |

Biology

78. Which of the following is free-floating hydrophytes?
fArAfafad & & &l a1 el feaT grsgwsca 82

a) Azolla /37SiTelT

b) Wolffia /AlfemaT
c) Spirodella /fEAIST
d) All of these / 3T3T

Hydrophytes are plants that grow in regions, where, there is plenty of water.These plants
float freely on the surface of water but are not rooted in the soil. For example Eichhornia,
Pistia, Wolffia, and Lemna.

gISaIhIEey U Ui gide oIt 31T8Ieh STof aTel 8131 & 39T & | I 9y 9Teit hr Tdig IR TadT
T T R & 3807 & v seifarar, e, aifewar 31 oer

79.A semiconductor has:

e 37Tl FTgldTe:
a) A negative temperature coefficient /WWWIUW
b) A positive temperature coefficient /‘E-Io'llcd-iq"dl‘-ld-llddguliqv
c) Zero/ R

d) None of these /STRTRISART

A negative coefficient for a material means that its resistance decreases with an increase in
temperature. Semiconductor materials (carbon, silicon, and germanium) typically have
negative temperature coefficients of resistance.

R uerd & fow uen :lzuuca-iqodlqgwiqo ol HcTold ¢ Tob ATTATA # JEf& & T gHehT
TfaRTer a7 &1 ST & | 31eTarets uerdf(errast, faforeist 3R sef i) & 3mrak @
RUTCHSHHTRIET ATIHTT I[UTieh BIclT & |

80.Which of the following pair doesn’t have the same dimension?

fAFafafad & @ fora goa o ararT A =€l &7
a) Decibel-unit of sound /SfAaa-tafadhrssrs
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b) Horse power — unit of power /371a2ITFd - Qlﬁ—?ﬁﬁlga?lé'
c) Nautical mile-unit of distance /a‘rﬁamvﬂﬂ - q\fl@&%é
d) Celsius-unit of heat / BfcTIT-ATIISHIS

The basic unit of temperature in the International System of Units (SI) is the Kelvin. It has
the symbol K. We can convert degrees Celsius to kelvins by adding 273.15.

SeTARNSTol TAECH 3T FIACH (SI) H ATTHTS T HeT SIS hiods] & | FHeRT Teileh K 5| §H
afcaaad273.15 s Afcaaafsaiier hicad H o Thd ¢

81.The pendulum watches became slowed down in summer because-
a) Of longer summer day /31T IdholFadTHThicsThased
b) The weighty of the pendulum is increased in summer /Wmﬂﬁgmﬂmﬁ

¢) Pendulum becomes elongate /ﬁgﬂﬂ'@lﬂﬁ@ﬁm
d) All of these / 3UFaaeT

In summer the temperature is high and this causes length of metal wire to increase
significantly causes to increase the time period of pendulum and this makes the clock slower
whereas in winter the temperature is low sothe metal wire contracts and this causes to
decrease the time period of pendulum and makes the pendulum faster.

LT 7 ATTHTS TR g1t hl ToTg A TS oTH ohl TSTS HIHY TG STl & Bolcl: SR
3TTadehTeT Scot O TaY ey g1 ST & STafeh feal & araHTT S 81dT § 37d:d} ahl TS
hH BT STl & SHPT 3MTacTehlel S &1 SATcle HRUZTH T 1Tt 96 ST ¢ |

82.Which one among the following in not a sexually transmitted disease?
fArAfaf@d # @ i v AT TR QT AST 82

a) Syphilis /Awfer T

b) Gonorrhoea JaMAREr

c) Scurvy /Thdr

d) Hepatitis B /%dasﬁﬂ-@r

Sexually transmitted diseases (STDs) are infections that are passed from one person to
another through sexual contact. The causes of STDs are bacteria, parasites, yeast, and
viruses.

et G VT (THENE) Ueh Yh HTHHATT & off Alef Hetlieh ATCTH § Teh TTard § gAY
H gaRd g 1 & | JiT G T S THEET & FROT SFEIRIAT, 9T, @HR 3R
IR g |

83. The photoelectric effect was fully explained on the basis of:

R Fed THTa Y TeAT I fhE TR 9T SREATId 32T a1 2
a) Quantum theory /mm
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b) Wave theory /?—N.?ll i@ajuia
c¢) Both of these /AGTAT
d) None of these /STRTRISART

Photoelectric Effect is the process of ejection of electrons from an active metal when light of
certain fixed frequency (threshold frequency) is incidented on it.

BICISi e TTd Ueh Hishd U] A Solarciall oh (oISt hl FTshdT ¢ STel 3 &l I Ueh
fA e amafar (Yites shrerie) T Fehrer sTer ST g |

84.Which one of the following pairs is correctly matched?

RrATaae # 3 et a1 adr gt
a) Silver lodide — Horn Silver /ﬁwm—ﬁﬁﬁw
b) Silver Chloride — Artificial rain /@WW@E—WW?T
c) Zinc Phosphide— Rat poison /awwgg—agﬂwﬁmraﬁ

d) Zinc Sulphide— Philosopher’s wool /%m—ﬂ%ﬁﬁ
Zinc Phosphide is used as a rodenticide. Zn;P,is a semiconductor.

g7
TSieh BIEPTSS T STATT Teh Thociehat 10T & & F Tl ST § | ZnsP, Teh HToleh & |

85.Sound travels in the form of.....
Eqfel o & H I AT 87
a) Transverse waves /HQWHH@T
b) Longitudinal waves /Hﬂéﬂim
c) Stationary waves /fET d3aT
d) EIectromagnetic/ﬁEﬂHﬂﬁﬁ'&a@

Longitudinal waves are waves in which the displacement of the medium is in the direction of
propagation of the wave.

IICEd TR AN gl 8 TSieTa ATeT s o1 faeuToet oiem & Heror &l fgem A gian g |

86.Which of the following gets converted to phosgene, when exposed to sunlight?

fotesT 3 & arar T 1 el & H9h H 3T Wbieoist H aRafdda g smarg
a) Chloroform /FRIHIH
b) Acetone /THICIT
¢) Benzene /dSilel
d) Propylene / I9elieT

Phosgene can form from chloroform, in presence of oxygen and UV light.
At room temperature phosgene is a poisonous gas.

HTerHIoTeT 3R ZT Tehrer shr SUTEAT HerelIBIH BIHoleT H TGol Hehll § [FHHT &
ATIHTT 9 BIESieT Teh STgdel 3T &1
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87.What is Vermiculture?
gHRe FATR?
a) The science of raising earthworms / éﬁgmaﬁmmﬁ
b) The science of studying fish /FSeIT T 3TETAA el T [T ATA
c) The science of studying bee /FHEHFTY T IEATT FeA I faATeT

d) The science of studying ant /TTET 3TeTTT &1 [ AT
It conducts respiration through its skin.
TE AT caaT & ATCIH T T IAT ¢ |

88.What is the unit of the physical quantity "Yong's modulus"?
#Hifcreh TIRY T a[uTieR’ hr SehTS T 72

a) Newton /egc&sl

b) Watt /dlc

c) Joule /\_TI‘\T*‘T

d) Pascal /9T&hel

Pascal is the unit of the physical quantity "Yong's modulus. It is defined as one newton per
square metre. It is named after the French polymath Blaise Pascal.

TRl #ifcreh TR a7 a[UTieh' hT ShTS | SU et Tl ot #Hie o & & R foha
3T & | ST ATH yﬁhﬂ@rag?r(w%r) SATSH YTEhel oh oATH U I@T IATE |

a) Copper, zinc /T 3R ST
b) Copper, chromium /&9 3T PRI
¢) Nickel, chromium /fAferer 3R AIfAETH
d) Nickel, Zink /fifeRer 3R i

Nichrome is a nickel-chromium alloy with non-magnetic properties. Nichrome is normally
used to make resistance wires.

ATSShIH AT T[0T ATl Teh Tolehot SHITAIH AT T B | ATSSHIA T 3TN 3TH Al
X IfaRIer ARt &l &1 & forw fohar SIrar g

90.C.V. Raman got the Nobel for which of following?

1 Y WA A ToT 7 & ford & Torw siteer wred fomam?
a) Reflection of light /WQTEI-?I'QTI_CI?EI?T
b) Refraction of light /WQTWW
c) Scattering of light/SehTT T FehTUTeT
d) Interference of Iight/W%TWa’JﬁEhTUT
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C.V. Raman got the Nobel for Scattering of light./&Y @ 8T &I YehT2l &T TehIvTeT & forw
CICCRE IR

91.Thermocouple works on the principles of......
AIGTH AIAT foher RAeHid UX 1 T 8?
a) Seebek effect /HTseh F3ITd
b) Pettier effect /ATecaX AT
¢) Kirchhoff law /fram® faaer
d) Vein’s law /3T &l a8

Thermocouple works on the principles of Seebek effect.The Seebeck effect is a phenomenon
in which a temperature difference between two dissimilar electrical conductors produces a
voltage difference between the two substances.

ATIYTH ATIATE Heleh FeTe fReiie Ix 13 T § | Heleh YeTTa Teh EetT § fors af
3TEATE Tl HTelent & e T ATTHTS 3Tc &T YT & &Ie Ueh fa8falec] deT s ST g |

92.Which of following animal can live for the longest duration without drinking water?

a1 A et TSI T I1ed) T G STl 39S T 7§ HehT 82
a) Giraffe /fORT®
b) Camel /3¢
c¢) Kangaroo /&dTT&

d) Kangaroo rat /Wﬂ@
Kangaroo rat can live for the longest duration without drinking water. It belongs to
Mammalia class.

HaTTE T TSAT aTelt Wiy He ofo=<lt 37afer ek 7§ Tehell & | Ig HHATIAT G271 T 51 &

93.Which among the following is the secondary pollutant?
foe=1 # et @1 veh gfaciiae Jouer &7

a) Carbon mono oxide /Wm?ﬁm

b) Carbon dioxide /3IeeT SBIHTFHTSS

c) Flyash /oFelTS UQo

d) Smog /THT

Secondary pollutants are pollutants which form in the atmosphere. These pollutants are not
emitted directly from a source (like vehicles or power plants). ... Photochemical smog is
made up of various secondary pollutants like ozone, peroxyacyl nitrates (PANs), and nitric
acid.

Sidciaeh YeNeh & TGN &1d & il AIHS Sl H &eTc & | T TGN HId (S aTget AT farstell
TI) A WY 3T AL AR ... PrerhReher TATT Rffee gfacdias vey o
3N, RIFHTA Asee (34), 3R asfes vias & A Saar g |
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94.Which one of the following is not a greenhouse gas?
frfoi@d # & i v fesa o A6 82

a) Oxygen /3iTeFErSTeT

b) Carbon Mono Oxide /Eh‘lé?-lﬁlﬂ’mmﬁ_s'

c) Nitrogen /dATSEISTl

d) All of the above / 3TUFATHT

The primary greenhouse gases in Earth's atmosphere are water vapor, carbon dioxide,
methane, nitrous oxide and ozone.

gedl & ARgHS H ST TTATHh MAGT3E AT 7 STef aTey, el STS3FATSS, Hde,
ATsey 3aFarss 3R S enfaet |

95. Wood spirit is —

g5 FaRe g -
a) Ethyl Alcohol /TTeI3Teehigel
b) Methyl Alcohol /fRATS3TehIger
c) Methyl Benzene /fRATSAS il
d) Ethyl Benzene / TfAclsailel

Methanol is a chemical with the formula CHsOH. Methanol was once produced chiefly by
the destructive distillation of wood.

AYsilol Teh THIIA & TSHDT I CH30H § | ATl hiTeh TR THEET & olehs! &
HSTh 3T GaRT ScqTicc TehaT ITT T |

96.Which of the following elements is not present in Stainless steel?

AR # & et AT dea TeoTord Fhel 7 Hl[g 781 67
a) lron /agT
b) Tungsten /E3TECsT
¢) Chromium /AT
d) Nickel / [&rer

Stainless steel is an alloy of Iron with @ minimum of 10.5% Chromium. Chromium produces a
thin layer of oxide on the surface of the steel known as the 'passive layer'. This prevents any
further corrosion of the surface.

AN Tl 3T T Ueh TR 1] & TSI =gTciaT 10.5% ShITAIH Gl & | ShlTAIH
TEST T Adg IR HTFATSS ST Ueh Idoll IR Hl (AT Fdl ¢ o AT o s &
ST ST § | Tg TS hifehdT off &0 Aarar g

97.The hair of shaving brush clings together when removed from water due to
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STa QAT 12T PIIATA S8R fAHAT ST § Y 3T sTel 39T H AT ST § | SHHT HRO]
g-

a) Surface tension /9Sod«Td

b) Viscosity /ATl

c) Elasticity /IcITEAAT

d) Friction /‘EI'@'UT

Surface tension is the tendency of fluid surfaces to shrink into the minimum surface area
possible. Newton per metre is the unit of Surface Tension.

USS AT ThEN od Shclg ol UG & ToTaH gd T cIa &1 YTCcl el shl hITARN AT
&1 =gt ufd HIeX U6 ATl 5618 & |

98.Newtons first law of motion gives the concept of

T FT AT Tl T2 foraa fraehi3raeron &ar g
a) Energy /il
b) Work/a?l'éf
¢) Momentum /3TTd

d) Inertia / S1Scd
Newton's First Law states that an object will remain at rest or in uniform motion in a straight
line unless acted upon by an external force.

=gCel o Il FFHT TUH [FIH o TR ST cIeh S 16 Tof GART H1d L1 FohT ST
& Cel cfeh Teh a&] Ueh HIEf 3T & 3TRTH AT Uhd AT 1Tt & 1§90

99. Cricket ball swing can be explained by which theory?
fohahe difer Hi¥aer ol foh e RAHTd & THSITAT ST HhdT 82
a) Pascal law /Wﬂf—f
b) Newton second law of motion /era;wﬁaﬂ
c) Seebeck Effect /HhTHTT

d) Magnus effect / Heaausra
Magnus effect is a phenomena which explains the spinning of ball.

HITH JHT Teh TCaAT § ST 316 3 GHeA Y SATEAT FHAT g |

100. Which layer of the earth’s atmosphere reflect back the radio waves to the earth’s
surface?

gl & ATgHS i et A R TN oI hY aT9H G2t T Helg TR TRIa el el 672
a) lonosphere /3TTAERRIT
b) Stratosphere /@aﬁqﬂT
¢) Mesosphere /FHAEHRT
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d) Exosphere / TFHIEHIIT

The ionosphere is a layer of electrons and electrically charged atoms and molecules that
surrounds the Earth. It exists primarily due to ultraviolet radiation from the Sun.

AT Soleelall 3R faeg HTATRIT RATUT3T HIR 370731 T Teh TR & ST g2l vl e
y%lﬂﬁﬁqwm?ﬁw¢mﬁﬁwmél
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